Summary of Table 1

» Appropriate analysis of Table 1 is crucial for any RCT or retrospective study.
Unfortunately, this “correction” should be viewed with substantial skepticism.

e Of the 22 p values that were listed, 16 could not be replicated using the N
provided and using the statistics listed in the methods. 6 of the 22 p values could
also not be verified using the N reported and three different nonparametric
statistics (chi-square, Fisher’s, and chi-square with Yates correction)

The authors appear to have inappropriately reported the p value for another
statistic than was listed in their methods. As the Yates correction is typically only
run with N per cell of < 5! (see also BMJ §uidance), the preponderance of the
information in this “correction” is factually incorrect. This statistic was misapplied
in many situations where the N was sufficiently large.

* It also shows exceedingly poor attention to detail that percentages appear to be
calculated incorrectly three times and there were 19 rounding errors on this
“corrected” table.

ancers m\w

Correction

Correction: Bar-Sela et al. Cannabis Consumption Used by
Cancer Patients during Immunotherapy Correlates with Poor
Clinical Outcome. Cancers 2020, 12, 2447

Gil Bar-Sela %*, Idan Cohen 1, Salvatore Campisi-Pinto 3 Gil M. Lewitus >0, Lanuel Oz-Ari 2, Ayellet Jehassi 4
Avivit Peer ®, 1lit Turgeman 50, Olga Vernicova 1 Paula Berman *), Mira Wollner ?, Mor Moskovitz ®
and David Meiri %*

1. See Wikipedia or most standard statistics textbooks



4.4 Statistical analysis (from Bar-Sala et al. Cancers 2020; 12:2447)

[

A series of y? tests or Fisher’s exact tests (when the assumptions of the parametric 1% test were not
met) and nonparametric Mann—Whitney U tests were conducted to analyze the differences between

patients” characteristics in both gmups|. Time to tumor progression (T'TP) and overall survival (OS)

was estimated using the Kaplan-Meier survival curve by group, and the log-rank test was computed to
differentiate the survival curves between groups. Hazard ratios and the corresponding 95% ClIs based
on a Cox proportional hazards regression model were provided for multivariate analyses. We computed
2-tailed p-values, where p < 0.05 was considered a statistically significant result. Statistical analyses
were performed using the SAS software package version 9.4 (SAS Institute, Cary, NC, USA).

Note that the methods section does not mention running chi-square with Yates correction. According to standard
convention, this would be completed when the N for a cell was < 5.
https://en.wikipedia.org/wiki/Yates%27s correction for continuity

| attempted to replicate the nonparametric statistics using:
https://www.graphpad.com/quickcalcs/contingency2/
Bold p-values on the next page (right 3 columns) correspond with those reported in the “corrected” table



https://en.wikipedia.org/wiki/Yates%27s_correction_for_continuity
https://www.graphpad.com/quickcalcs/contingency2/

BMJ’s guidance on small N

Small numbers

When the numbers in a 2 x 2 contingency table are small, the ¥*approximation

becomes poor. The following recommendations may be regarded as a sound
guide. (2) In fourfold tables a ¥* test is inappropriate if the total of the table is less
than 20, or if the total lies between 20 and 40 and the smallest expected (not
observed) value is less than 5; in contingency tables with more than one degree of
freedom it is inappropriate if more than about one fifth of the cells have expected
values less than 5 or any cell an expected value of less than 1. An alternative to the
¥* test for fourfold tables is known as Fisher's Exact test and is described in Chapter
9

Here is a description from the British Medical Journal (BMJ) on when the N expected per cell is so small as to be concerning. They
note a total of all 4 cells should be between 20 and 40. This study has a total N of 68 + 34 = 102 so alternatives to chi-square would
generally not be warranted. My reading of the above is that when more than one-fifth of cells (i.e. two of four) have expected
(not observed) values of < 5, then Fisher’s should be run. The corrected table contains observed (instead of expected) values but
the 2x2 analyses for the data in K, M & O (label on 1%t column of page 5) would be situation where Fisher’s would be

warranted.

https://www.bmj.com/about-bmj/resources-readers/publications/statistics-square-one/8-chi-squared-tests



< 10 guidance for use of Yates

When the values in a fourfold table are fairly small a "correction for continuity™
known as the “Yates’' correction” may be applied (3). Although there is no precise
rule defining the circumstances in which to use Yates' correction, a common
practice is to incorporate it into ¥* calculations on tables with a total of under 100

or with any cell containing a value less than 10. The ¥*test on a fourfold table is
then modified as follows:

As will be seen, it does not appear that Fisher’s was ever reported. Yates correction would be applied when the value of a
single cell is between 0 and 9. This would apply to 2x2 tables from D, F, G,1,J, K, M, N, O, P, S, U, V.

Note that, even if the authors did run Yates, the circumstances of when they ran a chi-square and when they ran Yates should
have been clearly but briefly described in the methods. Unfortunately, they were not.



Table 1. Demographics and medical conditions. (page 1)

Cannabis Non-Users

Cannabis Users

Characteristics N = 68 N = 34 p-Value
Age in years median (range) BY (18=492) 6b (37-85)
Cender—N (%)
Female 22(324) 324 10 (29.5) 224
A Male 46 (67.6) 676 24 (70,5) 706 0,939
Performance Status
B Eastern Ci aperative Uncology Group
|:I:{_‘.IJ]—|"'II |:I|:'lll]
1< 55 (R0.8) 809 24 (70.5) 706 0,3568
>3 13(191) 191 10(294) 204 00,3568
C Chronic diseases per patient—N (%)
D 0 22 (32.3) 324 13(22.0) 382 07124
1 16(235) 235 7(20.5) 206 0.9332
E 2 or mone 3 (44.1) 441 14(41.1) 412 0.9437
Background diseases—N (%)
F rﬁmmic heart disease 18 (26.4) 265 5{147) 147 0.2762
G Diabetes 17 (25.0)  25.0 6(17.6) 176 0.5576
H High blood pressune M (50.0) 50.0 13(34.1) 382 0.3612
| Chronic obstructive pulmonary disease (COPD) 9(13.2 13.2 J(8H) 88 1
J Hyperlipidemia 23(33.8) 3338 7(20.5) 206 0.249
K Other 2(2.9) 2.9 0. 0.0 1
Type of malignancy—N (%)
L I'{lmt-mmll cell lung cancer A7 (54.4) 544 20 (58,8) 5838 (,8325
M Melanoma 25(36.7) 368 9(264) 265 (414
N Renal cell carcinoma 4 (5.8) 5.9 2(58) 59 1
0 Other 2(2.9) 2.9 () 83 1
Main site of metastasis—N (%)
P Brain 12(17.6) 196 B{13.2) 235 0.6593
Q Lungs W (57.3) o, 23 (67.6) 67.6 0.4303
R Liver 13(191) o, 11(323) 324 0.2157

Green = correctly reported %, Red = rounding error, Yellow highlights = percentage reporting error

Chi-sq Fishers

.7628 .8240
2409 3152
4908 5136
7376 .8062
7774 8341
1802 2162
4022 4606
2611 2971
5145 7463
1436 1737
3125 5512
6723 8327
2985 3750
1.000 1.000
1946 3300
4806 5976
3155 3914
1374 1468

Chi-sq Yates

9399

.3568

.6398

.9437

.3612
.7445
2174
.8007

.8325

1.000
4175

.4303
.2157

Bold matches reported p-value
red = incorrect test, ereen = correct test



Summary of Page 1 of Table 1

Of 18 provided p values, only 1 could be verified using the statistics specified in the methods section.

Of the 18 provided p values, 12 had p values that could be replicated but only by using a different statistic than was
described in the methods section (chi-square with Yates correction).

Of the 18 provided p values, 5 could not be verified using either chi-sq or Fisher’s (i.e. the statistics in the methods) or
with chi-square with Yates correction.

There were 3 percentages whose calculations were incorrectly reported by at least 4.0% (Min = 4.1%, Max = 13.2%)
There were 14 errors of rounding (difference always = 0.1%).

A minor omission is that it would be more conventional to list a p-value (e.g. t-test) for the group comparison for age.



Table 1. Cont. (page 2)

Cannabis Mon-Users

Cannabis Users

Characteristics N = 68 N = 34 p-Value
[mmunotherapy given as—N (%)
. : ] b 45.6 23.5 R
S First line of treatment 31(45.5) ., , B(235) .. 0.05178
Second line of treatment or more 37 (54.4) ' 26 (76.4) ' 0.05178
T Checkpoint therapy—N (%)
U Anti PIM: Pembrolizumab or Nivolumab 47 (69.1) ©9.1 29 (85.2) 853 0127
[pilimumab and Nivolumab 16(23.5) 235 4(1L7) 118 0.2517
\Y Anti PDL-1: Durvalumab or Atezolizumab 5(7.3) 74 1(29) 29 1

Key: green = % calculated (rounded) correctly
red =% calculated (rounding) incorrectly

Chi-sqg

.0307

.0772
.1583
..3720

P values

Fisher’s Chi-sq

w/Yates
0334
.0945 .
.1934 2517
.6607 .6554

P values calculated with GraphPad Prism. Although it is theoretically possible that the differences are due to software (Bel-
Sala used SAS), we think this is exceedingly unlikely for simple non-parametric statistic like this. It is much more likely (based
on values corresponding to 4 decimal places) that the authors simply ran a different statistic than was reported. Unfortunately,
the statistic that was run (chi-square with Yates correction) is (again) only appropriate with a cell N of < 5.



Summary of Page 2 of Table 2
Table 1 tests for the equivalence between groups which is a core component of any observational study.

Importantly, the results section does not note that the two groups were statistically different at baseline regarding whether
immunotherapy was first or second line. This is a major oversight that substantially impacts the interpretation of this
study.

Of the 4 statistics on this page, only 1 was “correct”.

2 statistics could not be verified using the statistics specified in the methods. However, the p-value could be obtained using a
different statistic (chi-square with Yates correction) than was in their methods for 3 p values.

1 statistic could not be verified.

Although minor, of the 10 percentages that were listed, 5 had rounding errors.
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Fishar's exact test
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Chi-square without Yates correction
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Clear The Form

Here are the screen captures of the immunotherapy as first vs second line analysis.
The “Correction” reports the p-value as .05178 (i.e. non-significant). GraphPad show a p-value of .0317 (i.e. significant).




A. “corrected” chi-sg or Fishers p =.9399
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Enter your data

Enter the labels and number of subjects actually observed. Don't enter proportions, percentages or means.

Which test
Fisher's exact test
@ Chi-sguare
Chi-square with Yates' carrection
P value Tails
@ Two-taied (recommended)

One-tailed

Calculate Clear The Form
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Analyze a 2x2 contingency table

C MU cu Total

F 22 n] 32

M 4B 24 70
Tota it 34 102

Chi-square without Yates correction
Chi sguared equals 0.091 with 1 degrees of freedom
The two-tailed P value equals 0.7623
The association between rows (groups) and columns (outcomes)
iz considered to be not statistically significant

L. View resuli




A. “corrected” chi-sg or Fishers p =.9399
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Analyze a 2x2 contingency table

Enter the labels and number of subjects actually observed. Don't enter proportions, perceniages or means.

CNU cu Total

P rars 18] 32

: ) M 46 24 70
- Total &6 34 102

Fisher's exact test
The two-tailed P value equals 08240
The association between rows (groups) and columns (outcomes)
iz considered to be not statistically significant

Which test
@ Fisher's exact 25t

Chi-square

Chi-square with Yates' correction

P value Tails

@ Two-taded (recommended)

One-tailed

Calculate Clear The Form

The “corrected” p value could not be verified for gender.



A. “corrected” chi-sg or Fishers p =.9399

Analyze a 2x2 contingency table

Contingency tables are used to analyze counts of subjects to

Cy tables that separate e

Enter your data

Enter the labels and number of subjects actually observed. Don't enter proportions, percentages or means.

Which test
Fizher's gxact t2st
Chi-square
@ Chisquare with Yates' correction
P value Tails
§ Two-aied (recommended)

One-tailed

Calculate Clear The Form

Note large (> 10) cell size

determine if there is association between two factors. This
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Analyze a 2x2 contingency table

C U cu Total

F 22 ] 32

M 4B 24 70
Total i 34 10z

Chi-sguare with Yates correction
Chi squared equals 0.006 with 1degrees o
The two-tailed P value equals 0.8359
The azsociation between rows (groups) an
iz considered to be not statistically significant

olumns ': outcomes :I

The “corrected” p value for gender does correspond with that of another

(arguably inappropriate, not in methods) test.



B. “corrected” chi-sq or Fisher’s p = .3568
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Enter your data

Enter the labels and number of subjects actually observed. Don't enter proportions, percentages or means.

Which test
Fisher's exact tast
@ Chi-squarz
Chi-square with Yates' correction
P value Tails
@ Two-ailsd (recommended)

COne-tailed

Clear The Form

Analyze a 2x2 contingency table

C NU

55

2+ 13 1
Total 68 34 102

Total
74

a3 O3
[ —

[ I =]
[
el

Chi-square without Yates correction
Chisquared equals 1.375 with | degrees of
The two-tailed P value equals 0.2508
The association between rows (groups)an
5 considered to be not statistically significant




B. “corrected” chi-sq or Fishers p = .3568
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Analyze a 2x2 contingency table

Enter the labels and mumber of subjects actusally observed. Don't enter proportions, percentages or means.
C MU cu Total
Eh 24 79
2+ 13 10 23
Total BE 34 102

Which test ]
Fisher's exact test

The two-tailed P value equals 0.3152

@ Fisher's exact test

Chi-square

:m-szua-; with ¥ates corastion The association between rows (groups)an
B yalue Tails s considered to be mot statistically significan
@ Two-taded (recommended)

alculate Clear The Form

The reported ECOG p values could not be verified with chi-square or Fisher’s
The cell size >= so Yates would not be warranted according to the BMJ
guidance.



B. “corrected” chi-sq or Fishers p = .3568

Analyze a 2x2 contingency t

* GraphPad

Contingency tables are used to analyze counts of subj

calculator is for 22 contingency tables that separate each subjectinto by Dotmatics

with two possibilities. Simply label the rows and columns, then type int

between the two factors. Learn more about contingency tables (along v o e ~ (B .
the calculator BleCT Category L. LNOIEs CahCinan J. Chter daca =4

S— Analyze a 2x2 contingency table

Enter the labels and number of subjects actually observed. Don't en

C NU cu Total
55 24 79

2+ 13 10 23

o Total B8 34 102

Chi-sgquare with Yates correction
Which test Chi sguared equals 0-859 with 1 degrees
Ficher's axact tact The two-tailed P value equals 0.3568

Chi-squars The association between rows (groups | aSNICOILMING | oUTCOMES
@ Chisquare with Yates' sorrection s considered to be mot statistically significant.

P value Tails

Jre-tailed

The p-value can be repeated with the wrong statistic.

alculate Clear The Form

Note that the N per cell is >= 10 so chi-square with Yates is not the appropriate statistic to run here.



C. “corrected” chi-sq or Fishers p =.7124
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Contingency tables are used to analyze counts of subjects to determ

Analyze a 2x2 contingency table

Enter your data CNU cu Total

Enter the labels and number of subjects actually observed. Don't |:| EE I 3 SE

¢ L ol 1+ 46 21 BT
Taotal Ga L1 102

21
. Chi-zquare without Yates correction
wmih:mt Chisquared equals 0.358 with 1 degrees
® Chisquars The two-tailed P value equals 0.5553
Chi-square with Yates' corection The association between rows (groups] an es)
P value Tails 5 considered to be not statistically significan

@ Two-tsiled (recommended)

Cine-tailed

e

Clear The Form

The 1+ is calculated as sum of 1 and 2+ groups



C. “corrected” chi-sq or Fishers p =.7124

Analyze a 2x2 contingency i

Contingency tables are used to analyze counts of subjects to determin
calculator is for 2x2 contingency tables that separate each subjectint
two possibilities. Simply label the rows and

two factors. Learn more about contingency

Emter your data

Enter the labels and number of subjects actually observed. Domt &1

Which test
B Fizhers exact test
Chi-square
Chi-square with Yates' correction
P value Tails
B Two-tsiled (recommended)

Cine-taied
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Clear The Form

Analyze a 2x2 contingency table

C NU cu Total

a 22 13 51

I+ 46 21 67
Total ifs 3 102

Fisher's exact test
The two-tailed P value equals 0.6530
The association between rows (groups) 8
s considered to be not statistically significaM.

The Chronic Diseases / patient (0 vs 1+) could not be verified with chi-square or Fisher’s.



C. “corrected” chi-sq or Fishers p =.7124
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5 - C NU cu Total
0 22 13 35

) I+ 46 by BT

i B - Total Ba 34 102

Which test Chi-sguare with Yates correction

Fishars sxact st Chi squared equals 0.136 with 1 degrees
The two-tailed P value equals 0.7124

The association between rows (groups] 3

@ Chi-sguare with ¥stes' correction 5 considered to be mot statistically significant.

Chi-sguars

P value Tails

@ Two-tsiled (recommended) _

Cne-taifed

Cloar The Form The Chronic Diseases / patient (0 vs 1+) does correspond with that of the wrong statistic.

Note that N per cell > 20 so Yates is inappropriate and should not be reported here.



D. “corrected” chi-sq or Fishers p =.9332
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not 1

Which test
Fisher's exact test
@ Chi-squars
Chi-squars with Yates correction
P value Tails
@ Two-aisd {recommended)

COna-tailed

alculate Clear The Form

‘Not 1’ calculated as sum of 0 and 2+
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Analyze a 2x2 contingency

CNU cu Total
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7 79

4 102
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Chi-square without Yates correction
Chi squared equals 0.112 with | degrees of
The two-tailed F value equals 0.7376
The association between rows [groups)an

olumns (outcomes)
iz considered to be not statistically significant
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Enter your data

Enter the labels and number of subjects actually observe:

Which test
@ Fisher's exact test
Chi-squars
Chi-square with Yates' correction
P value Tails
@ Two-ailed (recommended)

COne-tailed

Clear The Form

D. “corrected” chi-sq or Fishers p =.9332

Analyze a 2x2 contingency

C NU cu Total

] 16 7 23

not 1 B2 27 79
Total 68 3 102

Fisher's exact test
The two-tailed P value eqguals 0.8062

is considered to be not statistically significant.

P value for chronic diseases = 1 not verified with chi-square or Fisher’s.



D. “corrected” chi-sq or Fishers p =.9332
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Enter your data 1 16 7 23
Enter the labels and number of subjects actually observe not 1 hZ 27 73
A Total B& 34 102
Chi-square with Yates correction
Chi squared equals 0.007 with 1 degrees
The two-tailed P value equals 0.9332
Which test

The association between rows (groups) ai columns [outcomes)
is considered to be not statistically significant.

Fishar's exact test
Chi-sgquare

@ Chi-sguare with Yates' comection

e P value for chronic diseases = 1 can be reproduced but only using an inappropriate
statistic (not in methods).

Cine-tailed

Note that N per cell is > 5 so Yates is the wrong statistic according to the Wikipedia criteria.
It could be applied according to BMJ guidance (although, again, only if specified in the methods).



E. “corrected” chi-sg or Fishers p =.9437

« 5> C M % graphpa.. &

B AP @ Gmail @ Im (O Speedtest
Oy DOTIMIATICS

&

Analyze a 2x2 contingen

Contingency tables are used to analyze counts of subjects to ¢
calculator is for 2x2 contingency tables that separate each sut
with two possibilities. Simply label the rows and columns, ther

between the two factors. Learn more about contingency table

below the calculator

Enter your data

Enter the labels and number of subjects actually observed

Which test
er's exact test
@ Chi-squars
Chi-squars with Yates' correction
F value Tails
@ Two-dailsd (recommended)

Cna-tailed

v GraphPad

by Dotrmatics

Analyze a 2x2 contingency table

C NU Ccu Total
D& 1 38 70 T

D4 30 14 B
Total it 34 102

Chi-square without Yates correction
Chi squared equals 0.080 with 1 degrees
The two-tailed F value equals 0.7774
The association between rows (groups)
is considered to be not statistically significant




E. “corrected” chi-sg or Fishers p =.9437
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Fishers exact test
Chi-square The two-tailed F value equals 0.8341
Chi-square with Yates’ cormection The association between rows (groups) 8
P value Tails is considered to be not statistically significant

B Two-taied (recommended)

alculate Clear The Form For chronic diseases 2+, the “corrected” statistics (chi-sq or Fisher’s) could not be verified.




E. “corrected” chi-sg or Fishers p =.9437
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alculate Clear The Form

As the N per cell is large (>13), Yates is an inappropriate statistic and should not be reported.



F. “corrected” chi-sq or Fishers p =.2762

below the calculator

Enter your data

Which test
Fizher's exact test
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calculator is for 22 contingency tables that separate ea hje
with two possibilities. Simply label the rows and columns, then t
between the two factors. Lea e about contingency table

ctually observed. Di

Clear The Form

3 G raphPad

by Dotmatics

Analyze a 2x2 contingency table

C NU cu Total

CHO+ 18 g 235
2+ al 29 79
Total 68 34 102

Chi-sguare without Yates correction
Chi squared equals 1.736 with 1 degrees of §
The two-tailed P value equals 0.1802
The association between rows (groups) and
iz considered to be not statistically significant

umns (outcomes)



F. “corrected” chi-sq or Fishers p =.2762

<« > C M 2z graphpad.com...

B ave @ Gmail @ Im () Speedtest

Oy LADTUTIATICS

3. Ent

Analyze a 2x2 contingenc!

Contimngency tables are used to analyze counts of subjects to dete
calculator is for 2x2 contingency tables that separate each subjec
with two possibilities. Simply label the rows and column
between the two factors. Learn more about contingency tables(

below the calculator

Enter your data

Enter the labels and number of subjects actually observed. Do

Which test
@ Fisher's exact test
Chi-squars
Chi-square with Yates' correction
F value Tails
@ Two-taied {recommended)

Cne-tailed

Clear The Form

“ GraphPad

by Dotmatics

Analyze a 2x2 contingency table

C NU cu Total

CHD+ 15 B 23
2+ al 23 79
Total 68 34 102

Fisher's exact test
The two-tailed P value equals 0.2162
The association between rows (groups) 8
is considered to be not statistically significa

The reported “corrected” p value could not be verified with chi-square or Fisher’s.



F. “corrected” chi-sg or Fishers

[ T

.2/62

@©Im ) Speedtest @ |G| Canvas2 @ CHR-Datasets @ Altmetricit! |G| G-Email » (3 All Bookm

C m 2% enwikipedia.org/wikifYates's_correction_for_continuity 3¢

Analyze a 2x2 contingency

Contingency tables are used to analyze counts of subjects to determi
calculator is for 2x2 contingency tables that separate each subject int ) o B ) ) i .
twio possibilities. Simply label the rows and columns. Ehen broe in the __ pon's chi-squared test by subtracting 0.5 from the difference between each observed value and its expected value ina 2 x 2

two factors. Learn more about contingency tab es[along with when tc = ngency tab'eﬂ This reduces the Chi—SquarEd value obtained and thus increases its p—Ua'UE.

The effect of Yates's correction is to prevent overestimation of statistical significance for small data. glGRF T =R TSRS R T 1

Enter your data R e e T anenE Unfortunately, Yates's correction may tend to overcorrect. This can result in

Enter the labels and number of subjects actually observed. Don'te  an overly conservative result that fails to reject the null hypothesis when it should (a type Il error). So it is suggested that Yates's correction
is unnecessary even with quite low sample sizes. such as:
C MU

According to Wikipedia (above), an N < 5 might warrant Yates correction. However, as
. - the smallest cell observed =5, it would not be warranted here according to the Wiki
convention. It could be used (when in methods) according to the BMJ Guidance.

Which test Analyze a 2x2 contingency table

Fishars sxact test

CNU cu Total

Chi-zquare CHD+ 18 5 23

2+ 50 9 79

@ Chi-sguare with Yates' correction Total 63 51 102

P value Tails
Chi-square with Yates correction
Chisquared equals 1166 with 1 degrees of fr
One-tailed The two-tailed F value equals 0.2762
The association between rows (groups) an

Calculate Clear The Form 5 considered to be not statistically significant

P! Two-tsiled (recormmended)

P value is reproduced but with
(arguably) the wrong statistic (not
in methods section too).




G. ”corrected” chi-sq or Fishers p = .5576

23 graphpad.com/quickecalcs.. € 37
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1. Select category 2. Choose caloulator 3. Entel

Analyze a2x2 contlngency1

Contir 1gency tables are used to analyze counts of s Djecis o Jetermil
Calculato for 22 contingency t

Analyze a 2x2 contingency table

two possibilities. Simply label the r y t
o fact Learn more about contingency tables|along with when tc
C NU CU Total
Enter your data . ] -
_ diabetes+ 7 B 23
Enter the labels and number of subjects actually observed. Don't e . .
diabetes- B 28 74
Total G 34 102

diabetes+ 17

Chi-square without Yates correction

Which test Chi squared equals 0.702 with | degrees
riEners et e The two-tailed P value equals 0.4022

@) Chi-=guare The association between rows [groups) a
RS e careten is considered to be not statistically significa

P value Tails
B Two-taided recommended)

COne-tailed

Calculate Clear The Form




G. “corrected” chi-sg or Fisher’s p = .5576

Analyze a 2x2 contingenc!

Contingency tables are used to analyze counts of subjects to dete

calculator is for 22 contingency tables that separate each subjec 1 Talart m=tamm Y Choo=e a3 Eour . Enter dat
PR - . - = b -t = - = ek .

two possibilities. Simply label the rows and columns, then type in i -

two factors. Learn more about contingency tables(along with whe

Analyze a 2x2 contingency table

Enter the labels and number of subjects actually observed. Do

C MNU CU Total
C L oL digbetes+ 17 b 23
diabetes- Bl 28 79

i ) ' Total 68 34 102
diabetes- &l 28
Which test Fisher's exact test
@ Fishers exact test The two-tailed F value equals 0.4606
Chi-square The association between rows (groups)and ¢
Chi-square with Yates’ corraction is considered to be not statistically significant
P value Tails
@ Two-szizd frcommended) I ——

Cne-tailed

Calculate Clear The Form

The “corrected” p value is not reproduced for chi-square or Fisher’s for diabetes.




G. “corrected” chi-sq or Fishers p =.5576

Analyze a 2x2 contingency

::"["'I;'Z"":_. tables are used 10 analyze counts of aere

subjects to
calculator is for 22 contingency tables that separate each su

two possibilities. Simply label the rows and colum

bject
ns, then type in th

two factors. Learn more about :J"ti"';f":.. tablesla ong with when

Enter your data

Enter the labels and number of subjects actually observed- Don

Which test
Fisher's ex3ct tst
Chi-squars
| Chi-squars with Yates" cormection
F value Tails

@ Two-aied {recommended)

Zne-tailed

Calculate

Clear The Form

Prism Cuostomers Resources

%" GraphPad

Support P

by Dotmatics

T o [

Analyze a 2x2 contingency table

C MU CU Total

diabetes+ 17 B 23
diabetes- Bl 28 79
Totzl GE 34 102

Chi-square with Yates correction
Chi sguared equals 0.344 with 1degrees o
The two-tailed P value equals 0.5576
The association between rows (groups)an
iz considered to be not statistically significant

The smallest cell = 6 so Yates is not appropriate (Wikipedia convention).
The p values is reproduced with an incorrect statistic (not in methods).




H. “corrected” chi-sq or Fishers p =.3612

Analyze a 2x2 contlngency

Contin y tables are used to analy
calc at iz f 232 contingency tables
it .

=" G l"aph Pac Prism Customers Resources Support P

by Diotmatics

between t"E'..'.:".':Ct:"EE-_E.':" more ao

the calculator.

Enter your data
Enter the labels and number of subjects actuslly observed. Don® Analyze a zxz cﬂntingency table
CNU CU Total
hbo= 2 - hbp+ 34 13 47
hbp- 34 21 Bh
34 71 Total 6 34 102
Which test
here want toat Chi-square without Yates correction

Chi squared equals 1.263 with 1 degrees of
The two-tailed F value equals 0.261]
The association between rows (groups) ant
& considered to be mot statistically significanY-

Note large (>12) N per cell.

@ Chi-square
Chi-square with Yates’ correction

P value Tails
@ Two-tailed (recommended)

Cne-tailed

Calculate Clear The Form




H. “corrected” chi-sq or Fishers p =.3612

1. Select categary 1. Choose caloulator 3-En

Analyze a 2x2 contingency

Contingency tables are used to analyze counts of subjects to deten
calculator is for 2x2 contingency tables that separate each subject
with two possibilities. Simply label the rows and columns, then type

betwsen the two factors. Learn more about contingency tables[alo

the calculator.

Enmter your data

Enter the labels and number of subjects actually observed. Don'

Which test

B Fisher's exact test
Chi-square

Chi-zquare with Yates' comsction

P value Tails

@ Two-tailed (recommended)

One-tailed

m Clear The Form

Ly Gl"aph:’-:':]l'.l Prism Customers Resources Support Pri

by Dotmatics

Zelect cate ?. Chooss calculator Enter

Analyze a 2x2 contingency table

C

=
=

cU Tatal

hbp+ 34 13 47
hbp- 34 21 b5
Total 68 34 102

Fisher's exact test
The two-tailed F value equals 0.2971
The association between rows (groups) an
% considered to be not statistically significan

The analysis is not verified for chi-square or Fisher’s for high blood pressure.



H. “corrected” chi-sq or Fishers p =.3612

Analyze a 2x2 contingency

Contingency tables are usad to analyze counts of subjects to determ

2 contingency tables that separate each subject i

calculator is fo

with two possibilities. Simply label the rows and columns, then type
between the two factors. Learn more about contingency tables [alor

the calculator.

Enter your data

Enter the labels and number of subjects actually observed. Don't

Which test

Fisher's 2xact test

Chi-zquare
@ Chi-zquare with Yates' comection
P value Tails

@ Two-tailed [recommended)

Jne-tailed

m Clear The Form

Prism Customers Resources Support Pric

Analyze a 2x2 contingency table

C NU CU Total

hbp+ 34 13 47
hbp- 34 21 &5

Total ili 34 102

Chi-square with Yates correction
Chi squared equals 0-834 with 1 degrees
The two-tailed P value equals 0.3612
The association between rows (groups) argcolumns
s considered to be not statistically significant.

The smallest hypertension cell = 13 so there was no reason to run Yates.
However the p value was reproduced (with an incorrect statistic).

\outcomes)




. “corrected” chi-sq or Fishers p = “1”

1. Select categary 1. Choose calculator 3-Ent

Analyze a 2x2 contlngency

to analyze counts of subjects to de
gency tables that separate each ::.J-_":':[
y label the rows and columns, then type
Earn more about ::"".i_':_lf_':_. tables|alo

Enter your data

Enter the labels and number of subjects actually observed. Don

Which test
Fisher's exact test
@ Chi-square
Chi-square with Yates' comection
P value Tails
B Two-tsiled (recommended)

Dne-tailed

Clear The Form

GraphF’ Prism Customers Resources Support Pr

by Diotrmatics

Analyze a 2x2 contingency table

CNU CU Total

COPD+ 9 3 12
COPD- 59 31 30
Total ili 34 102

Chi-square without Yates correction
Chi squared equals 0-425 with 1 degrees
The two-tailed P value equals 0.5145
The association between rows (groups) an
s considered to be not statistically significany.




. “corrected” chi-sq or Fishers p = “1”

1. Select categary 1. Chooss caloulator 3-Er

Analyze a 2x2 contingenc)

...- . -‘r' "o - -
Contingency tables are used to analyze counts of subjects to deter — Graphl:-:_']l._; Frism Customers Resources Support Prin

calculator is for 2x2 contingency tables that separate each subject by Dotmatics

with two possibilities. Simply label the rows and columns, then typ

between the two factors. Learn more about contingency tables (al:

the calculator. B ST C3Iegary 2. Chooee calculatar 3. Enter da

Enter your data

Analyze a 2x2 contingency table

CNU CU Total

COPD+ 9 3 12

e ’ ’ COPD- BH 31 30
Total 68 34 102

Which test Fisher's exact test

The two-tailed P value equals 0.7463
The association between rows (groups) andtolumns (outcomes)
5 considered to be not statistically significant.

B Fisher's =xact fest

-

whAkEquare

F value Tails

B Two-tsiled (recommended)

Dne-miled _




. “corrected”

Analyze a 2x2 contingency t

nts of 5

ngency tables that separate each EE.J::E:I inic

analyze cou ubjects to determin

ntingency tables are usad to

1plY [ADEl [N rows ana Columns

Enter your data

Enter the labels and number of subjects actually observed. Don't er

Which test
Fisher's exact test
Chi-square
@ Chi-square with Yates' comection
P value Tails
[

Two-tailed (recommended

Dne-tailed

Clear The Form

chi-sq or Fishers p = “1”

/" GraphPad

Prism Customers Resources Support P

by Dotmatics

Analyze a 2x2 contingency table

CNU cu Total

COPD+ 3 3 12
COPD- 53 31 a0
Total 6 B 102

Chi-square with Yates correction
Chi squared equals 0.106 with 1 degrees ojde
The two-tailed P value equals 0. 7445
The association between rows (groups) and columns {outcomes)
5 considered to be not statistically significant.

The reported p value for COPD was not verified with either chi-square, Fisher’s, or

Yates. Note that for the small (< 5) values per cell, many statisticians would argue that
Yates would be an appropriate analysis here. For p to = 1.000, the proportion would have
to be identical in both groups. If 9 per total 68 in Cannabis Non Users, then 4.5 per

34 in Cannabis Users. Obviously, this is an impossible N so there is some error in reporting.



J. “corrected” chi-sq or Fishers p =.2491

Analyze azx2 contlngm

Contingency tables are used to analyze counts of subjects ¢
factors. This calculator is for 2x2 contir yta

on two factors, each with two possibilities. Simply t
cell to test the relationship between the two factors. Leam
15€ each test)in the description below the calculator

Enter your data

Enter the labels and number of subjects actually observi

=
L
1

Which test
Fisher's exact tzst
@ Chi-squars
Chi-squars with Yates correction
P value Tails
@ Two-taidsd {recommended)

Cne-tailed

Clear The Form

'GraphPad

by Dotmatics

Analyze a 2x2 contingency table

C MU cu Total

hyperlip + 23 f) a0
hyperlip - 45 27 72
Total 68 3 102

Chi-square without Yates correction
Chisquared equals 1.913 with 1degrees o
The two-tailed F value equals 0.1667
The association between rows {groups) a

reEeqom

columns {ocutcomes]

s considered to be not statistically significant.




J. “corrected” chi-sq or Fishers p =.2491

Analyze a 2x2 contlngency table

Contingency tables are used to analyze counts of subjects to determine if there is a : Gra h.:!lr_]ln

factors. This calculator is for 22 contingency tables that separate each subject int p A

on two factors, each with two possibilities. Simply label the rows and columns, then by Dotmatics

cell to test the relationship between the two factors- Leam more about contingenc:

us2 each test)in the description below the calculator i o
elect categon 2. Choose calculat 3. Enter dats .

Enter your data
-
Enter the labels and number of subjects actually observed. Don't enter proportic Analyze a 2x2 cuntlnge ncy table

- - C MU cU Total
. _ hyperip + 23 7 30
— : hyperlip - 45 7 72
45 z Total it 3 102

Which test
@) Fishers exact tect Fisher's exact test
Chi-square The two-tailed F value equals 0.2438
Chi-square with Yates” correction The association between rows (groups]
B yalue Tails s considered to be not statistically signific

@ Two-taded (recommended)

ne-tailed

alculate Clear The Form




J. “corrected” chi-sq or Fisher’s p =.2491

Analyze a 2x2 contingenc

Contimgency tables are used to analyze counts of subjects to dets

%" GraphPad

by Dotmatics

factors. This calculator is for 222 contingency tables that separat

on two factors, each with two possibilities. Simply label the rows

cell to test the relationship between the two factors. Learm more 1. Select cateqar

iz2 each test)in the description below the calculator

Enter your data Analyze a 212 cuntingency table

Enter the labels and number of subjects actually observed. Dc

C NU cu Total

hyperip + 23 7 30

hyperlip - 45 27 72

nyperiip + 23 7 Total it 3 102

Chi-square with Yates correction

Which test Chi squared equals 1.328 with 1 degrees gjffreedom.
Fizher's exact tzst The two-tailed F value equals 0.2431 _
Chisquare The association between rows (groups) and columns {outcomes)

s considered to be mot statistically significant.

@ Chi-squars with Yates' correction

P value Tails

@ Two-aded {recommended) _

Cne-tailed

, The smallest cell = 7 so Yates would not be appropriate for hyperlipidemia (Wiki criteria).
alculate Clear The Form . . . L.
However, the p value was reproduced (albeit with the wrong-not in methods, statistic).




K. “corrected” chi-sq or Fisher's p = “1”

Analyze azx2 contlngency table

Contingency tables are used to analyze counts of s s to determing if thereis as

factors. This calcu ["If 2% 3 ; [?:3:“5:]-_:-“ (s
on two factors, each with two possi

cell to test the relationship between the two factors- Learm more
is¢ each test)in the description below the calculator

Enter your data

Enter the labels and number of subjects actually observed. Don't enter proportior

Which test
Fizher's exact t2st
® Chi-sguars
Chi-squars with ¥ates correction
P value Tails
i Two-iailsd {recommended)

One-tailed

alculate | Clear The Form

'GraphPad

by Sotmatics

elect categor 2. Choose calculat 3. Enter data &. Vi

Analyze a 2x2 contingency table

C MU CU Total

other bd+ 2 1 2
other bd- BB 3 100
Total it 3 102

Chi-square without Yates correction
Chisquared equals 1.020 with 1 degrees
The two-tailed F value equals 0.3125
The association between rows (groups) a
s considered to be not statistically significant.

s{oUtCOmes



K. “corrected” chi-sq or Fisher’'s p = “1"

Analyze a 2x2 continger

Contingency tables are used to analyze counts of subjects fr

factors. This calculator is for 2x2 contingency tables that se
pn two factors, each with two possibilities. Simply label the
cell to test the relationship between the two fac L=a
J5e each test)in the description below the calculator

Enter your data

Enter the labels and number of subjects actually observe

Which test
B Fizher's exact test
Chi-squars
Chi-square with Yates™ correction
P value Tails
® Two-tadsd {recommended)

Oinz-tziled

alculate Clear The Form

" GraphPad

bry Dotmatics

1. Select category 2. Choose calculator 3. Enter datz 4. Vie

Analyze a 2x2 contingency table

C MU cu Total

other bd+ 2
other bd- BB
Total ili

=
L

" =y B e |
=
=

3.
3.

E
=
(=

Fishers exact test
The two-tailed F value eguals 0.5512
The association between rows {groups] 8
s considered to be not statistically significalt.

For other background diseases, the “corrected” reported p-value was not verified with either
Chi-square or Fisher’s.



K. “corrected” chi-sq or Fishers p = “1”

Analyze a 2x2 contingenc =" GraphPad

by Dotmatics

Contingency tables are used to analyze counts of subjects to de
factors. This calculator is for 2x
on two factors, each with two

1. Zelect category 2. Choose calculatar 3. Enter data &\

cell to test the relationship between the two factors- Learm maor

s cxhiesinth sescrptionteon e caustor. Analyze a 2x2 contingency table

Enter your data CNU Ccu Total
. . other bd+ i 1 i
Enter the labels and number of subjects actually observed. | other bd- EE 34 100
Total 6 34 102
ather b+ 2 0 Chi-zquare with Yates cormection
Chisquared equals 0.064 with 1 degree
\ther bi- AR 74 The two-tailed P value equals 0.8007

The association between rows (groupsla

5 considered to be not statistically significaitt.
Which test

e _
Chi-squars

@ Chi-sguars with Yates" correction

For other background diseases, the reported p-value was not verified with either chi-square,

:alTUETa”S e Fisher’s, or Yates. For p = 1.000, the % would have to be identical for both groups. If 2 per
N 68 total for CNU, then 1 per 34 for the CU group. As this was not listed, there appears to be

an error in the original data.
‘ Clear The Form ‘



L. “corrected” chi-sq or Fishers p =.8325

Analyze az2x2 contlngency table

Contingency tables are used t
two factors. This calculator is
-,=t'|:""5;“3=:e: om twio factor
type in the counts for each ce
contingency tables [along with whe

Enter your dat

Enter the labels and number of subjects actually observed

d

pErcentages or means.

Which test

Fisher's exact test

@ Chi-squars

Chi-square with ¥ates correction

P value Tails
® Two-taded

ne-tailed

recommended)

Don't enter proportions,

' GraphPad

by Dotmatics

niter data & Wiew resu

Analyze a 2x2 contingency table

C NU CU Total

nsclc+ 37 20 &7
nsclc- 31 14 45
Total E8 34 102

Chi-square without Yates correction
Chisgquared equals 0-173 with 1 degrees
The two-tailed P value equals 0.6723
The associstion between rows (groups) 8

s considered to be not statistically significant.




L. “corrected” chi-sq or Fishers p =.8325

~ 1lao* '. ﬂ.( il T T
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by Dotmatics

B avP @ Gmail @ Im

Enter your data

Analyze a 2x2 contingency 1

percentages or means. C NU CU Total
nsclc+ 37 20 &7

nsclc- 31 14 45

Total E8 34 102

Which test i
@) Fichers xact test Fisher's exact test

Chi-squsre The two-tailed F value equals 0.8327

Not verified.

EfSRuaE it TR eorrsaten The association between rows (groups) 38§ COIUMNS {OUTCOMES
P value Tails . e . .
P s considered to be not statistically significant.

Ona-tailed

Glear The Form ]




L. “corrected” chi-sq or Fishers p =.8325

Enter your data

%" GraphPad

by Dotrmatics

Enter the labels and mumber of subjects actually obs
percentages or means.

1. Select category 2. Choose calculator 3. Enter data L. View resi

- Analyze a 2x2 contingency table

nsclc+ LY 20 C NU CU Total
nsclc+ 37 20 57
N nsclc- 31 14 45
nsclc- - L Total 6 34 102
Which test Chi-square with Yates correction
Chisquared equals 0.045 with 1degrees
Fisher's exact test The two-tailed P value equals 0.8325

The association between rows (groups) ansgolumns {outcomes

Chi-square s considered to be not statistically significant.

| Chi-squars with ¥Yates' comection
L
P value Tails

With the smallest cell = 14, Yates is the wrong statistic.
However, the p-value is reproduced for non small cell lung cancer.

i Twodalsd (recommended)

Zne-tailed

Calculate Clear The Form




M. “corrected” chi-sq or Fishers p = .414

Enter your data

Enter the labels and number of subjects actually — Gfﬂph ":'-:':ll.'_]
PETCENtAQES Of MEans. by Dotmatics

7 Choose calculator 3. Enter data &. View result

1. Select category

;, Analyze a 2x2 contingency table

; B G NU CU Total

e - melanoma+ 25 g 34
melanama- 43 25 it

Which test Total it 34 nz

Sizher's exact test

Chi-square without Yates correction

Chi squared equals 1.0B1 with 1 degrees
“hi-square with Yates correction The two-tailed P value equals 0.2385
The association between rows {groups] an
s considered to be mot statistically significan

@ Chi-sguars

P value Tails

@ Twolailsd (recommended)

One-tiet I

Calculate Clear The Form




M. “corrected” chi-sq or Fishers p = .414

Enter your data

Enter the labels and number of subjects actually obse L 1 Graph Dy
percentages or means. .

by Dotmatics

1 S s e = - i T — - o T Ertemr o= - 2 | |- -
M B —EBCT Cateqory L. L-MDDE= CalCculator J. Enler data &. Wiew resul

Analyze a 2x2 contingency table

melanoma- 43 25 C NU CU Total
melanoma+ 25 3 34
i melanoma- 43 Fir Ga
Which test - ) _| ﬂ? _—
Total 63 34 0z
® Fizher's exact t=st
Zhi-squars ]
Fisher's exact test
Chi-squars with Yates' correction The two-tailed P value equals 0.3750
P value Tails The associstion between rows (groups) an

P g 5 considered to be not statistically significa
Wo-gisd recocmmendea)

o _

Calculate Clear The Form .r: . .
- The reported “corrected” p values for melanoma were not verified with chi-square
or Fisher’s.




M. “corrected” chi-sq or Fishers p = .414

Enter your data

Enter the labels and number of subjects a
pErcentages or means.

elanoma+
Elanoma- 43
Which test

Sizher's exact t==t

=hi-squars

(=48

@ Chi-squars with Yates" correction

P value Tails

@ Two-tadsd {recommended)

Cre-tziled

Calculate

Clear The Form

%" GraphPad

by LAEETRDE S

hoose calculator 3. Enter data &. View resu

Select category

Analyze a 2x2 contingency table

G NU CU Total
rnclonomo ! 20 L Oy
melanoma- 43 25 it

Total 6@ 34 102

Chi-square with Yates correction
Chi squared equals 0.667 with 1 degrees
The two-tailed F value equals 0.4140
The association between rows (groups) anScolumns (outcomes)
s considered to be not statistically significant.

With a smallest N / cell of 9, Yates is an inappropriate statistic.
However, this corresponds with the p-value reported.



N. “corrected” chi-sq or Fishers p = “1”

Enter your data

Enter the labels and mumber of subjects actually obs
percentages or means.

Which test

“izher's exact t==t

@ Chi-squars

Chi-squars with Yates" correction

P value Tails
@ Two-tailsd {recon

Cne-tailed

1mended)

Clear The Form

=" GraphPad

by Dotmatics

nter data &. View resul

Analyze a 2x2 contingency table

CNU Cu Total
RCC+ 4 o i
RCC- B4 32 96
Total B3 34 02

Chi-square without Yates correction
Chi squared equals 0.000 with 1 degrees of
The two-tailed P value equals 1.0000
The association between rows (groups] and
s considered to be mot statistically significant.

urmnsjoutcomes)

The reported p value for Renal Cell Carcinoma is verified!



N. “corrected” chi-sq or Fishers p = “1”

Enter your data

Enter the labels and number of subjects actuslly observed. Don'

Analyze a 2x2 contingency table

C NU CU Total
RCC+ i 2 RCC+ & 2 B
RCC- B4 32 96
RCC- S 17 Total BB 54 102
Which test Fisher's exact test
@ Fisher's exact test The two-tailed F value equals 1.0000
Chi-square The association between rows (groups]
- L _ s considered to be not statistically signific
wiM-SJUuare Wiin 1aies comsziion
P value Tails

@ Two-tsiled (recommended)

Cne-tailed

Calculate Clear The Form

The result has been verified!




N. “corrected” chi-sq or Fishers p = “1”

Enter your data

Enter the labels and number of subjects actuslly observed. Dont

— Gl"aph:'-:':]l.'.l Prism Customers Resources Support

by Dotmatics

e : : Analyze a 2x2 contingency table

_— . - CNU CU Total
o ) N RCC+ 4 2 B
RCC- B4 32 98

Which test Total B8 34 102

Fishers exact test

Chi-sgquare with Yates correction
Chi sguared equals 0.000 with 1 degrees
The two-tailed P value equals 1.0000
The association between rows (groups) an
P value Tails 5 considered to be not statistically significant®

Chi-eguare

@ Chi-square with Yates' comsction

@ Two-tailed (recommeanded)

Zne-tailed

In this circumstance, all three statistics give the same result.
Calculate Clear The Form




O. “corrected” chi-sq or Fishers p = “1”

Enter your data

Prism Customers Resources Support

Enter the labels and number of subjects actually observed. Dor

nermae | |2 | Analyze a 2x2 contingency table

nther mal- b 3 C NU CU Total
other mal+ s 3 B

_ other mal- 66 31 97
Which test Total BR L1 102

Fisher's =xact fest

@/ Chi-square Chi-sgquare without Yates correction
Chi squared equals 1.652 with 1degrees g

Chi-zquare with Yates' comection
_ The two-tailed F value equals 0.1346
P value Tails The association between rows (groups) an
@ Two-tsiled {recommended) s considered to be not statistically significant®
Cne-tailed

m Clear The Form




O. “corrected” chi-sq or Fishers p = “1”

Enter your data

Enter the labels and number of subjects actually observed. Don't e

Prism Customers Resources Support P
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Analyze a 2x2 contingency table

CNU CU Total
Which test othermels . i :
\
other mal- BB 31 g7
@ Fisher's exact t=ct Tatal BE 3 102
Chi-squars

Fizher's exact test

Chi-square with Yates” comection
The two-tailed P value equals 0.3300

P value Tails The association between rows (groups)an
iz considered to be not statistically significan

| Two-tailsd (recommended)

Jre-tziled

Calculate Clear The Form o
The reported p-value was not verified.




O. “corrected” chi-sq or Fishers p = “1”

Enter your data

Enter the labels and number of subjects actually observed

Which test
Fisher's exact tesi
Zhi-squars
@ Chi-squars with Yates™ correction
P value Tails
P Two-tadsd

recommended)

Zne-tziled

Calculate

Clear The Form

Don't

Prism Customers Resources

Support

Analyze a 2x2 contingency table

CHU CU Total

other mal+ 2 3 B
other mal- BB 51 g7
Total EB 34 102

Chi-square with Yates correction
Chi sqguared equals 0.657 with 1 degrees
The two-tailed P value equals 04175

The association between rows (groups) amgcolumns [outcomes)

iz considered to be not statistically significant

The reported p value for other malignancies was not verified.



P. “corrected” chi-sq or Fishers p = .6593

Enter your data

Enter the labels and number of subjects actually observed. Don

ct categary 2. Chooss calculstor 3. Enter dats

l.5a

Analyze a 2x2 contingency table

C NU CU Total
brain- 56 pli braim + 12 g 20
brain- BB 26 82
Which test Total b5 54 102
Fizsher's sxact test
@ Chi-square Chi-square without Yates correction
- e Chi squared equals 0-438 with 1 degreeg
S UEre winn Yates' comection
_ The two-tailed F value equals 0-480
P value Tails . — o) -
The association between rows (groups) \outcomes)
@) Two-tailed (recommended) s considered to be not statistically significant.
Jne-tail=d




P. “corrected” chi-sg or Fishers p = .6593

Enter your data

Prism Customers Resources Support

Enter the labels and number of subjects actually observed. Dont

=
[=1]
i

Analyze a 2x2 contingency table

T

(=1
1
¥

C NU CU Total

brain + 12 8 20

Which test brain- 56 76 az
@ Fisher's exact test Total 65 34 102

Chi-=quare

-
—

ni-square with Yates' comaction Fisher's exact test

BRI N=T ar B us --1.-_-?-"
P value Tails The two .e.||h.|:| value equals :I. o376 _
The association between rows |groups) arggolumns {outcomes
 considered to be mot statistically significant.

| Two-tsiled (recommended)

Jne-tailed

The reported p-values for brain metastasis were not verified.




P. “corrected” chi-sq or Fishers p = .6593

Enter your data

fe - ——————— e e e e —

Enter the labels and number of subjects actually observed. Do

Analyze a 2x2 contingency table

- - C NU CU Total

braim + 12 i 20

brain + 12 brain- 56 26 gz
Total B85 34 102
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Chi-square with Yates correction
Which test Chi squared equals 0.194 with 1 degrees
The two-tailed P value equals 06533
The association between rows (groups) an
iz considered to be not statistically significant®

Fizher's sxact test

Chi-sguare
@ Chi-square with Yates' comsction
P value Tails

@ Two-tsiled (recommended)

One-tailed For the smallest N per cell = 8, Yates would typically not be considered the right
m statistic. Howeuver, the reported p value corresponds with Yates.

Clear The Form




Q. “corrected” chi-sq or Fishers p = .4303

Enter your data

Enter the labels and number of subjects actually observed. Don't e Ana Iyze a 2x2 cunti ng ency ta b I e

o C NU CU Total
e . lungs + 33 23 B2
i ] _ lungs- 29 11 50
- 59 : Total B8 34 102
Which test Chi-square without Yates correction
Fisher's exact test Chi squared equals 1.008 with 1degrees
@ Chi-cquare The two-tailed P value equals 0.3155
- L . The association between rows (groups) anSgolumns {outcomes)
NFEqUuare Wwin 13mes comssiion
_ s considered to be mot statistically significant.
P value Tails

@ Two-tsiled (recommended)

Dne-tailed _




Q. “corrected” chi-sqg or Fishers p = .4303

=nter your data ]

Enter the labels and number of subjects actuslly observed. Dor

Analyze a 2x2 contingency table

C NU CU Total
gs- : ‘ lungs + 39 23 B2
lungs- 29 1 400

Which test Total BE 34 102

@ Fisher's exact test

Chi-Eguare

Fishers exact test

Chi-square with Yates' correction The two-tailed P value equals 0.3914
P value Tails The association between rows (groups) umns {outcomes)
@ Two-tsiled {recommended) 5 considered to be not statistically significant.

Jine-tailed

Clear The Form

Calculate

The reported p value for lung metastasis could not be verified.



Q. “corrected” chi-sqg or Fisher’s p = .4303
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Emter your data

Enter the labels and number of subjects actuslly observed. Donl

tegary Z. Choose calculator 3. Enter da

Lr
!
m
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1
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Analyze a 2x2 contingency ta

C NU CU Total

Which test lungs + 38 23 ¥l

Fisher's exact test lungs- 29 11 40

Chi-zquare Total B8 34 102
@ Chi-square with Yates' comrection
P value Tails
® Tws-sied (recommended) Chi-square with Yates correction

Chi squared equals 0.622 with 1degrees
m JE— The two-tailed F value equals 0.4303

The association between rows (groups) andWelumns {outcomes)

s considered to be not statistically significant.

With the smallest N per cell = 11, Yates correction is typically not employed.
However, the p-value can be reproduced.



R. “corrected” chi-sq or Fishers p =.2157

Enter your data

Enter the labels and number of subjects actually obser
MEanns.

Which test
Fisher's exact test
@ Chi-squars
Chi-squars with Yates” correction
P value Tails
@ Two-tadsd (recommended)

Zne-tailed

Calculate Clear The Form
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Analyze a 2x2 contingency table

C HU cU Total
liver + 13 1 24
liver- b5 23 78
Total i 34 102

Chi-square without Yates correction
Chi squared equals 2.207 with 1 degrees
The two-tailed P value equals 0.1374
The association between rows [groups ) angolumns [outcomes)
is considered to be not statistically significant

Note large >= 11 cell values.




R. “corrected” chi-sq or Fishers p =.2157

Enter your data

%" GraphPad

Enter the labels and number of subjects actually observe by Dotrmatics
MEans.
select category 2. Choose calculator 3. Enter data & View
=
: Analyze a 2x2 contingency table
e - a7 C MU cu Total
liver # 13 1 24

. liver- bh 23 78
Which test Total s 34 102

B Fisher's exact t==1

hi-squars . i
Fisher's exact test

The two-tailed F value equals 0.1468
P value Tails The association between rows [groups) ald columns (outcomes)
@ Two-taied (recommendad) is considered to be not statistically significant

Chi-squars with Yates” cormection

Zne-tailed

Calculate Clear The Form

The reported p-values could not be verified.



R. “corrected” chi-sq or Fishers p =.2157

Enter your data

Enter the labels and number of subjects actually obsery
MEans.

MU B - S .. .
C WU - Select category Z. Choose calculator 3. Enter data & Viey

E I Analyze a 2x2 contingency table

s - - CNU cu Total
liver + 13 1 24

liver- o5 23 [

Total 68 34 102

Which test

Fisher's exact test . . .
Chi-sguare with Yates correction

Chi-square Chi sguared equals 1.532 with 1 degrees of freedom.
The two-tailed F value equals 0.2157
@ Chi-square with Yates cormection The aszociation between rows (groups) and columns (outcomes)
P value Tails iz considered to be not statistically significant.
@) Two-tzied (recommended] ]
Cnetzild With the smallest N per cell = 11, Yates is not appropriate.

However, the p value is reproduced with this incorrect statistic.
Calculate Clear The Form




Table 1. Cont. (page 2)

Cannabis Mon-Users

Cannabis Users

Characteristics N = 68 N = 34 p-Value
[mmunotherapy given as—N (%)
. : ] b 45.6 23.5 R
S First line of treatment 31(45.5) ., , B(235) .. 0.05178
Second line of treatment or more 37 (54.4) ' 26 (76.4) ' 0.05178
T Checkpoint therapy—N (%)
U Anti PIM: Pembrolizumab or Nivolumab 47 (69.1) ©9.1 29 (85.2) 853 0127
[pilimumab and Nivolumab 16(23.5) 235 4(1L7) 118 0.2517
\Y Anti PDL-1: Durvalumab or Atezolizumab 5(7.3) 74 1(29) 29 1

Key: green = % calculated (rounded) correctly
red =% calculated (rounding) incorrectly

Chi-sqg

.0307

.0772
.1583
..3720

P values

Fisher’s Chi-sq

w/Yates
0334
.0945 .1270
.1934 2517
.6607 .6554

P values calculated with GraphPad Prism. Although it is theoretically possible that the differences are due to software (Bel-
Sala used SAS), we think this is exceedingly unlikely for simple non-parametric statistic like this. It is much more likely (based
on values corresponding to 4 decimal places) that the authors simply ran a different statistic than was reported. Unfortunately,
the statistic that was run (chi-square with Yates correction) is (again) only appropriate with a expected cell N of < 5 (Wikipedia)

Or 0-9 (BMJ Guidance).



S. “corrected” chi-sq or Fisher’s p value is .05178

« > C m 25 graphpad.com/quic C m %5 graphpad.com/quick.. & 3¢

B amp g AMP @ Gmail @ Im () Speedtest @ |G Canvas?

“ GraphPad

by Diotmatics

Enter your data

Enter the labels and number of subjects actuslly observed. Don't

Analyze a 2x2 contingency table

C MU HI Total
im Ist 31 B 59
im 2nd 57 2B B3
Tota s 34 102
Which test
Fisher's exact test Chi-square without Yates correction
@ Chi-square Chi squared equals 4-670 with 1 degrees of freedom.

The two-tailed P value equals 0.0307
The association between rows {groups) and colummns {outd
s considered to be statistically significant

Chi-square with Yates' correction
P value Tails

B Two-tailed {recommended)
One-tailed ]

cacuate NI It is interesting that this is the only p value on Table 1 that the authors reported to
5 decimal places.




S. “corrected” chi-sq or Fisher’s p value is .05178
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{*) Speedtest

S
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Enter your data

Enter the labels and number of subjects actually observed- Don't er

Which test
Fisher's exact test
Chi-squars
Chi-square with Yates correction
P value Tails
Two-taiked (recommended)

Cne-tziled

Clear The Form
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by Dotmatics

Analyze a 2x2 contingency table

C MU CU Total

m Isk 31 3 39
m 2nd 37 26 63
Tota 63 34 102

Fisher's exact test

The two-tailed P value equals 0.0334

The association between rowsi{groups) an
s considered to be statistically significant

]
The reported p value for immunotherapy 15t vs 2" could not be verified with either
chi-square or Fisher’s exact test. As this manuscript is about immunotherapy, this
significant (p < .05) difference could be an important confound. This was not addressed
In the data-analysis (e.g. ANCOVA) or in the discussion section.



S. “corrected” chi-sq or Fisher’s p value is .05178

Enter your data

Enter the labels and number of subjects actually observed. Don't ¢

Which test

Fizher's exact test

Chi-squarz

Chi-squars with Yates

P value Tails

® Gmail

2% graphpad.com/quick

correction

Clear The Form
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Analyze a 2x2 contingency table

C ML HI Total

im Ist 31 3 z4
m 2nd LY 26 B3
Tofta it a3 10z

Chi-square with Yates cormection
Chisquared equals 3.783 with 1 degrees

The two-tailed F value equals 0.0513

The association between rows | groups) ansgolumns {outcomes)

s considered to be not quite statistically significant

The smallest cell N is 8 so Yates would not be appropriate. Although Prism only reports
to 4 decimal places, with rounding, the “corrected” p value is reproduced, albeit with a
statistic that is both inappropriate (arguably) and not described in the methods.




T. “corrected” chi-sg or Fisher's =.127

Analyze a 2x2 contmgency

Contir .:----_ tables are used to analyze counts of subjects to deter

calculator is for 2x2 contingency tables that separate each subject i
two possibilities. Simply label the rows and columns, then type in ths
factors. Learn more about contingency tables [along with when to w

Enter your data

Enter the labels and number of subjects actually observed. Don't

Which test
Fisher's exact test
@ Chi-sguars
Chi-squars with Yates correction
P value Tails
@ Two-aidsd {recommended)

Zne-tailed

Calculate Clear The Form
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%" GraphPad

by Dotmatics

Analyze a 2x2 contingency table

CHU CU Total

Anti PO 47 29 6
other 21 5 26
Total iTa 34 102

Chi-square without Yates correction
Chisquared equals 3.123 with 1 degrees of freedom
The two-tailed P value equals 0.0772
The association between rows (groups) and columns (ou
s considered to be mot quite statistically significant.




T. “corrected” chi-sq or Fisher’s =.127

€ > C M 23 graphpad.com/quic
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Analyze a 2x2 contingency

Contingency tables are used to analyze counts of subjects to deta | Graphl:-::ﬂ_a
calculator is for 2x2 contingency tables that separate each subject i by Dotmatics
two possibilities. Simply label the rows ar g

factors. Learn more about contingency tables [along with

Enter your data

Analyze a 2x2 contingency table

Enter the labels and number of subjects actually observed. Don®

C NU Cu Total
Anti PO 47 73 76

other Z1 7] il i]

Ant el = = Total £3 34 102

Fisher's exact test
Which test The two-tailed P value equals 0.0945
The association between rows (groups) and

lumns {outcomes)
s considered to be not quite statistically significant.

@ Fisher's exact t=st
Chi-squars

Chi-square with Yates' correction

F'"ﬂ'“E_TE‘_'_S - The for PD-1 immunotherapy reported p-value could not be verified with either chi-square or
¢ Tt.d e Fisher’s. A “trend” (p > .05 but p < .10) was identified with both statistics. However, this was

not discussed in the manuscript as this near significant difference could change the
clearhe Form interpretation of this immunotherapy study.




T. “corrected” chi-sqg or Fisher’s =.127

« =2 C m ¢3 graphpad.com/quick

" GraphPad

B AP @ Gmail @ Im () Speedtest @ e b Diotraatics

Analyze a2x2 contmgency

ala e =E ula 3. Enter da
Contir 1gency tables are used to analyze counts of = J_,:Z".:E'.Z'!:..
calculator is for 22 contingency ¢ hat separate each subjectir -
Analyze a 2x2 contingency table
CNU CU Total
Enter your data \nti B0 47 7 2%
Enter the labels and number of subjects actually observed- Don't - ather 2 ; %
Total 68 34 102

Anti PO 4 £d

Chi-square with Yates correction
other 2 B Chisquared equals 2-329 with | degrees
The two-tailed F value equals 0.1270

Which test The association between rows (groups) an¥ columns {outcomes)
Figher's exact test s considered to be not statistically significant.
Chi-sgquare

P value Tails

| Two-taied {recommended)

The smallest N per cell was 5 so Yates would (arguably) not be used.
However, the p-value was verified (again, with a statistic not listed in the methods

Clear The Form Section),

One-tziled




U. “corrected” chi-sg or Fisher’s p =.2517

v alm1@ By« iaa@as

« > C m 23 graphpad.com/quick

B AavP @ Gmal @ Im () Speedtest

%" GraphPad

by Dotmatics

Select category 2. Choose calculatar 5-E ][] StE

Analyze a 2x2 contingency

- Analyze a 2x2 contingency table

C NU CU Total

Enter your data |:2I & nivo 16 4 20
Enter the labels and mumber of subjects actusally observed. Don't E'thEr 52 EE EE
Total 63 34 102

sther 52 30 Chi-square without Yates correction
Chi squared equals 1-990 with 1 degrees of freedom.

Which test . _ _
The two-tailed P value equals 0.1583

Fisher's exact test

® Chisquare The association between rows {groups) and columns (o0
Chi-square with Yates' comection s considered to be not statistically significant.
P value Tails

@ Two-ailed (recommended)

: -E-ts IIEd _
Calculate Clear The Form




U. “corrected” chi-sg or Fisher’s p =.2517

Analyze a2x2 contmgency

Contingency tables are used to analyze counts of subjects to deter
calculat for 22 contingency tables that separate each subject i
two possibilities. Simply label the rows and columns, then type in th
factors. Learn more about contingency tables [along with when to

Enter your data

Enter the labels and number of subjects actually observed. Don

Which test
@ Fisher's exact test

Chi-squarz

Chi-square with Yates" correction
F value Tails
@ Two-ai=d

recommended)

Cne-tailed

Calculate

Clear The Form

%" GraphPac
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gle =teqgor Firmimee = ale atar C

Analyze a 2x2 contingency table

C MU CU Total

pi & nivo [ - 20
other 52 30 B2
Total it 34 102

Fisher's exact test
The two-tailed F value equals 0.1834
The association between rows (groups) 8
s considered to be not statistically significant.

The reported p value for ipilimumab & nivolumab could not be verified with either

chi-square or Fisher’s.



U. “corrected” chi-sg or Fisher’s p =.2517

AnalyzeaZxZ contingency € C (@ % graphpad.com/quick.. € Yy

Contingency tables are used to analyze counts of subjects to detern . AMP @ Gmail @ I (G E.pee.:ltest e G Canvas?

calculakor is for 22 contingency tables that separate each subject i
two possibilities. Simply label the rows

columns, then type in th

factors. Learn m ore about contingency tables [along with when to u

G raphPad

by Dotmatics

Enter your data

. _ 1. Select category 2. Choose calculator 3. Enter data
Enter the labels and number of subjects actually observed. Dont

Analyze a 2x2 contingency table

. ) C NU Cu Total

pi & nivo 16 4 20
_ . other 52 30 52
g - Total B2 34 102

Which test

Chi-square with Yates cormection
Chisgquared equals 1-31% with 1 degrees
The two-tailed F value equals 0.2517

@ Chi-squars with Yates correction The associstion between rows {groups)

5 considered to be mot statistically signific

Fizher's exact test

Chi-square

P value Tails

| Two-taided {recommended)

Jne-tziled

Calculate Clear The Form

Although not listed in the methods section, due to the small N per cell (4), Yates correction
would be appropriate here. The p value is verified.




V. “Corrected” chi-sq or Fisher’'s p = “1"

< C M 23 graphpad.com/quick... € Y¥
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1. Select category 2. Choose calculataor 3-Ei

Analyze a 2x2 contingency

ontingency tables are used to analyze counts of subjects to dete 1. Select category

Analyze a 2x2 contingency table

C MU CuU Total

Enter your data anti FOLT 5 : A
Enter the labels and number of subjects actuslly observed. Don't other B3 33 a6
Total B 34 102

Chi-square without Yates correction

anti FOL-1 5 ! Chisquared equals 0.797 with 1 degrees of freedom.
The two-tailed P value equals 0.3720

The association between rows (groups) and columns {outcome

s congsidered to be not statistically significant.

Which test
Fisher's exact t2st

@ Chi-sguars

Chi-square with Vates corection Note that a statistician that has worked with non-parametric data could just eyeball this
Paete data and intuitively know that the p value was not 1.000. That only happens when the % is equal for both
Lo groups. With 5 for 68 total in the CNU group, it would have to be 2.5 (i.e. half) per 34 total in the CU

group. As this is an impossible outcome, there is clearly an error in the reporting for this immunotherapy

Clear The Form .
variable.




V. “Corrected” chi-sg or Fisher’s p = “1”

€ > C m 25 graphpad.com/quick

B AP @ Gmail @ Im () Speedtest @

-« Analyze a 2x2 contingency table
Analyze a 2x2 contingency C NU CU Total

Contingency tables are used to analyze counts of subjects to determi il 1

calcul ;:"-:-":1:2 ::“tj"';e":l:; ]'. SEpar : jec '"I anti FOL 5 ! B
other B3 33 396

Total i 34 102

two possibilities. Simply label th
factors. Learn more about contingency tables (along with when to usi
Enter your data

Enter the labels and number of subjects actually observed. Don't ¢

Fisher's exact test
The two-tailed P value equals 0.6607
The association between rows {groups) and columns {outcomes)
s considered to be not statistically significant.

S ]

B Fisher's exact test

e The “corrected” p value for anti-PDL-1 immunotherapy could not be verified with either
S chi-square or Fisher’s.

P value Tails
@ Two-ailed (recommended)

Cne-tailed

Calculate Clear The Form




V. “Corrected” chi-sq or Fisher’'s p = “1"

« > C m 23 graphpad.com/quick.
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1. Select category 2. Choose calculator 3-En

Analyze a 2x2 contingency

Contingency tables are used to analyze counts of subjects to determil

calculator is for 2x2 contingency t separate each subject int

two possibilities. Simply label the rows and columns, then type in the

factors. Learn more about contingency tables (along with when to use

Enter your data

Enter the labels and number of subjects actually observed- Don't e

Which test
Fizher's exact test
Chi-squars
@ Chi-squars with Yates' correction
P value Tails
® Twodailed (recommended)

COne-tziled

Calculate Clear The Form
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Analyze a 2x2 contingency table

C NU CU Total

anti POL-1 B I B
other B3 33 96
Total B2 34 102

Chi-square with Yates conrection
Chi squared equals 0.139 with 1 degrees
The two-tailed F value equals 0.6554
The association between rows (groups) an
5 considered to be mot statistically significant:

The reported p-value also was not verified with Yates.



For further information

These concerns are aISO describEd at: https://pubpeer.com/publications/5SAFA302155D8AE02603134F556A085?utm_source=Chrome&utm_medium=BrowserExtension&utm_campaign=Chrome



A series of_(when the assumptions of the parametric y? test were not

met) and nonparametric Mann-Whitney U tests were conducted to analyze the differences between
patients” characteristics in both groups. Time to tumor progression (TTP) and overall survival (OS)
was estimated using the Kaplan-Meier survival curve by group, and the log-rank test was computed to
differentiate the survival curves between groups. Hazard ratios and the corresponding 95% ClIs based
on a Cox proportional hazards regression model were provided for multivariate ana]ySES._

Statistical analyses

were performed using the SAS software package version 9.4 (SAS Institute, Cary, NC, USA).

Note 2-tailed p values

Parametric: variables with normal distribution were compared by means of parametric tests, there is no such
thing as a “parametric chi-square test”



Summary of Table 2

* 0 of the 2 p values could be replicated despite trying 6 different ways
» 2 of the 12 percentage calculations contain rounding errors



Table 2. Abnormal laboratory tests betore immunotherapy (according to local normal ranges).

Cannabis: Cannabis:
Test Nonusers Users p-Value Two-tailed
n =68 n =34 Ch-sq=.1199
1 Lymphocytes < 1.5 K/uL—N (%) 35 (51) 23 (67) 67.6=68 0.08 tig;g
Blood count WBC < 4.5 K/uL—N (%) 7 (10) 2(6) - CH-sq=.459O
Liver Function
Alanine Aminotransferase (ALT) > 45 7 (10) 3(9) -
Aspartate Aminotrasterase (AST) > 35 8 (12) 5 (15) -
2 Alkaline phosphatase level (ALKP) > 120 13 (19) 11 (32) 0.09
Renal Function—N (%)
Creatinine > 1.17 mL/min 12 (17)17.6 =18 3 (9) -

One-tailed
1: C=.060, F=.0890, Y =.0896, 3: C=.0687, F=.1089, Y =.1079
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Contingency tables are used ko analyze counts of subjects to deter

calculatoris for 2x2 contingency tables that separate each subject

with two possibilities. Simply label the rows and columns, then type
3

- - - - - - — | -
rn mare abouk contingsncy tables|al0

Enter your data

Enter the labels and number of subjects actually observed. Don®

- S -
L = = Fa

Which test
Fizher's exact test
Chi-square
@ Chi-square with Yates' correction
P value Tails
® Twic-tai=d {recommended)

Tre-tailed

Calculate | Clear The Form

Prism Customers Resources Support Pricin

by Dotmatics

Analyze a 2x2 contingency table

CHLU CU Total
it 23 68
[}l S5

Tota 68 3y 102

I
[ B e |

—
L)

Chi-square with Yates correction
Chi sguared equals 1.804 with 1 degrees of freedom.
The two-tailed P value equals 0.1793
The association between rows (groups) and columns (outcomes)
is considered to be not statistically significant
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ontingency tables are used to analyze counts of subjects to deterr

calculator is for 252 contimgency tables that separate each subject
with two possibilities. Simply label the rows and columns, then type
between the two factors. Learn more about contingency tables|alo
the calculator.

Enter your data

Enter the labels and number of subjects actually observed. Don®

CHU CU

Which test
Fizher's exact test
@ Chi-squsre
Chi-square with Yates' comection
P value Tails
§ Two-taded {recommended)

One-tailed

Calculate | Clear The Form
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1. Select category 2. Choose calculator

Analyze a 2x2 contingency table

CNU cuU Total

| <=].5 35 23 hE
L>1.5 3 11 “g
Total 68 34 102

Chi-square without Yates correction
Chi squared equals 2.418 with | degrees of freedom.
The two-tailed P value equals 0.1198
The association between rows (groups) and columns {outcomes)
iz considered to be not statistically significant



F\-_..tl..l:;..\._ [-n ] j::,_ -:l =m =Tz J..\.-_. —F mrhiamte -:l Hz
fot - L ) alsa di'c datdla L el e e i ek et o e e '

calculator is for 2x2 contingency tables that separate each subj

with twio possibilities. Simply label the rows and columns, ther
between the two factors. Learn more about contingency tables : Prism Customers Resources Support Pricing
he calculator by Dotmatics

[T
¥
L
L
L

Enter your data

Enter the labels and mumber of subjects actually observed Analyze a 2x2 cnntingency table

- - CNU cu Total
=15 35 23 5
eslE = = L=1.5 33 1 4

Tota B8 34 102

Which test Fisher's exact test
ich tes . .
The two-tailed P value equals 0.1412
@ Fisher's exact test The association between rows (groups) and columns (outcomes)

“hi-square is considered to be not statistically significant

Chi-square with Yates' correction
P value Tl ——————

i Two-tgi=d {recommended)

Zne-tziled

alculate Clear The Form
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calculator is for 2x2 contingency tables that separate each subject inf
two possibilities. Simply label the rows and columns ."“':""'._.EEI the
two factors. Learn more about C JEMNCY Labie zla QMg WILn Wwinen I

Enter your data

Enter the labels and number of subjects actuslly observed. Dont e

Which test
Fishers sxact test
Chi-zquare
@ Chi-=sguare with Y¥ates' correction
P value Tails

Two-tailed (recommended)

B One-tailed

Clear The Form

Prism Customers Resources

Support
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Analyze a 2x2 contingency table

CNU cu Total

L==1.h 35 23 i
L=1.5 33 n 44
Tota it 3 102

Chi-square with Yates correction
Chi squared equals 1.804 with 1 degrees of freedom
The one-tailed P value equals 0.0836
The association between rows (groups) and columns {outcomes)
5 considered to be not quite statistically significant.-

This p value almost corresponds with that reported in Table 2.



Analyze a 2x2 contingency table

Contingency tables are used to analyze counts of subjects to determine if there is
calculator is fior 2x2 contingency tables that separate each subject into o
vith two possibilities. Simply label the rows and columns, then type in the counts for
between the two factors. Learn more about contingency tables (along w
the calculakor.

Enter your data

Enter the labels and number of subjects actually observed. Don't enter proportions

ALEP =120 13 11
ALKP==120 EE 23
Which test
Fizhar's exact test

Chi-zquars
@ Chi-sguare with Yates' correction
P value Tails

Two-tziled (recommendsd)

® One-tailed

Clear The Form
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Customers Resources Support Pric

Analyze a 2x2 contingency table

CNU cu Total

ALKF =120 13 11 24
ALEP<=120 31 23 78
Total Gid 34 102

Chi-square with Yates correction
Chi squared equals 1.532 with 1 degrees of freedom.
The one-tailed F value equals 0.1079
The association between rows (groups) and columns (outcomes)
is considered to be not statistically significant.
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Chi-square without Yates correction
Chi squared equals 0.548 with 1 degrees of freedom.
The two-tailed P value equals 04530
The association between rows (groups)and columns (outcomes)
iz considered to be not statistically significant
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Analyze a 2x2 contingency table

CHU cu Total
ALKP=120 13 1 24
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Chi-square without Yates correction
Chi squared equals 2.207 with 1 degrees of freedom
The two-tailed F value equals 0.1374
The association between rows (groups) and columns (outcomes)
is considered to be not statistically significant
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Analyze a 2x2 contingency table

CNU CU Total

ALKP=120 13 1 24
ALKP-=120 55 23 T8
Total 68 34 102

Fisher's exact test
The two-tailed P value equals 0.1568
The association between rows [groups) and columns (outcomes)
is considered to be not statistically significant
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he two-tailed P value equals 0.2157
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Chi-squars is considered to be not statistically significant

Sigher's exact t==1

P value Tails

@ Two-sailed (recommended)

P
Cne-tziled

Calculate Clear The Form




	Slide 1: Summary of Table 1
	Slide 2
	Slide 3: BMJ’s guidance on small N
	Slide 4: < 10 guidance for use of Yates
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10: A. “corrected” chi-sq or Fishers p = .9399 
	Slide 11: A. “corrected” chi-sq or Fishers p = .9399 
	Slide 12: A. “corrected” chi-sq or Fishers p = .9399 
	Slide 13: B. “corrected” chi-sq or Fisher’s p = .3568 
	Slide 14: B. “corrected” chi-sq or Fishers p = .3568 
	Slide 15: B. “corrected” chi-sq or Fishers p = .3568 
	Slide 16: C. “corrected” chi-sq or Fishers p = .7124 
	Slide 17: C. “corrected” chi-sq or Fishers p = .7124 
	Slide 18: C. “corrected” chi-sq or Fishers p = .7124 
	Slide 19: D. “corrected” chi-sq or Fishers p = .9332 
	Slide 20: D. “corrected” chi-sq or Fishers p = .9332 
	Slide 21: D. “corrected” chi-sq or Fishers p = .9332 
	Slide 22: E. “corrected” chi-sq or Fishers p = .9437 
	Slide 23: E. “corrected” chi-sq or Fishers p = .9437 
	Slide 24: E. “corrected” chi-sq or Fishers p = .9437 
	Slide 25: F. “corrected” chi-sq or Fishers p = .2762 
	Slide 26: F. “corrected” chi-sq or Fishers p = .2762 
	Slide 27: F. “corrected” chi-sq or Fishers p = .2762 
	Slide 28: G. “corrected” chi-sq or Fishers p = .5576 
	Slide 29: G. “corrected” chi-sq or Fisher’s p = .5576 
	Slide 30: G. “corrected” chi-sq or Fishers p = .5576 
	Slide 31: H. “corrected” chi-sq or Fishers p = .3612 
	Slide 32: H. “corrected” chi-sq or Fishers p = .3612 
	Slide 33: H. “corrected” chi-sq or Fishers p = .3612 
	Slide 34: I. “corrected” chi-sq or Fishers p = “1” 
	Slide 35: I. “corrected” chi-sq or Fishers p = “1” 
	Slide 36: I. “corrected” chi-sq or Fishers p = “1” 
	Slide 37: J. “corrected” chi-sq or Fishers p = .2491
	Slide 38: J. “corrected” chi-sq or Fishers p = .2491
	Slide 39: J. “corrected” chi-sq or Fisher’s p = .2491
	Slide 40: K. “corrected” chi-sq or Fisher’s p = “1”
	Slide 41: K. “corrected” chi-sq or Fisher’s p = “1”
	Slide 42: K. “corrected” chi-sq or Fishers p = “1”
	Slide 43: L. “corrected” chi-sq or Fishers p = .8325
	Slide 44: L. “corrected” chi-sq or Fishers p = .8325
	Slide 45: L. “corrected” chi-sq or Fishers p = .8325
	Slide 46: M. “corrected” chi-sq or Fishers p = .414
	Slide 47: M. “corrected” chi-sq or Fishers p = .414
	Slide 48: M. “corrected” chi-sq or Fishers p = .414
	Slide 49: N. “corrected” chi-sq or Fishers p = “1”
	Slide 50: N. “corrected” chi-sq or Fishers p = “1”
	Slide 51: N. “corrected” chi-sq or Fishers p = “1”
	Slide 52: O. “corrected” chi-sq or Fishers p = “1”
	Slide 53: O. “corrected” chi-sq or Fishers p = “1”
	Slide 54: O. “corrected” chi-sq or Fishers p = “1”
	Slide 55: P. “corrected” chi-sq or Fishers p = .6593
	Slide 56: P. “corrected” chi-sq or Fishers p = .6593
	Slide 57: P. “corrected” chi-sq or Fishers p = .6593
	Slide 58: Q. “corrected” chi-sq or Fishers p = .4303
	Slide 59: Q. “corrected” chi-sq or Fishers p = .4303
	Slide 60: Q. “corrected” chi-sq or Fisher’s p = .4303
	Slide 61: R. “corrected” chi-sq or Fishers p = .2157
	Slide 62: R. “corrected” chi-sq or Fishers p = .2157
	Slide 63: R. “corrected” chi-sq or Fishers p = .2157
	Slide 64
	Slide 65: S. “corrected” chi-sq or Fisher’s p value is .05178 
	Slide 66: S. “corrected” chi-sq or Fisher’s p value is .05178
	Slide 67: S. “corrected” chi-sq or Fisher’s p value is .05178 
	Slide 68: T. “corrected” chi-sq or Fisher’s = .127
	Slide 69: T. “corrected” chi-sq or Fisher’s = .127
	Slide 70: T. “corrected” chi-sq or Fisher’s = .127
	Slide 71: U. “corrected” chi-sq or Fisher’s p = .2517 
	Slide 72: U. “corrected” chi-sq or Fisher’s p = .2517 
	Slide 73: U. “corrected” chi-sq or Fisher’s p = .2517 
	Slide 74: V. “Corrected” chi-sq or Fisher’s p = “1”
	Slide 75: V. “Corrected” chi-sq or Fisher’s p = “1”
	Slide 76: V. “Corrected” chi-sq or Fisher’s p = “1”
	Slide 77: For further information
	Slide 78
	Slide 79: Summary of Table 2
	Slide 80
	Slide 81
	Slide 82
	Slide 83
	Slide 84
	Slide 85
	Slide 86
	Slide 87
	Slide 88
	Slide 89

